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1.“.'11 Fm-dw .-\:nm-e-.:h. Jitendra, Ct‘laru. Devansh deep and Kitu live on different floors of a
.-.-l.x-tmfzr bm%du:g. Cha.ru does not hwi- an the top | . Only three friends live above Pradeep’s floor.
Only four friends live below Jitendra's floar. Only<runesh lives between the floors of Devansh and
Pradeep. e

Who lives on the top floor ?

1) Ritu (2) Devan_-‘.h (3) Jitendra (4) Pradeep
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TF TZ WIN § “beautiful” FF T ?

I J§1$Z W H, She is beautiful' ¥ “Ta Re Na Frarsmig |

. 3% WWE, Red beautiful flower’ ¥ ‘Sa Galra frar s €1
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Given below is a question followed by two statements numbered I and II, each containing some
information. You have to decide which of the statements is/are sufficient to answer the question.
Read both the statements and decide the appropriate answer.

What is the code for ‘beautiful’ in a certain code language ?

Staternents : F

I. In the same code language, ‘She is beautiful’ is written as ‘Ta Re Na'.

II. In the same code language, Red beautiful ﬂov'::r‘ is written as ‘Sa Ge Ta'.

1~ :
Either statement I alone or statement II along3s sufficient to answer the question.

(68}
(2) Both statements I and II together are necess@' to answer the question.
Statement I alone is sufficient to answer~jhe question, while statement II alone is not

(3)
sufficient. :
(4) Statement II alone is sufficient to answa&the question, while statement I alone is not

sufficient.
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In this question, two statements are followed by two conclusi .
conclusion(s) is/are definitely true, based on the given statem :nnLS;numbeJ'ed 1 and IL Find out which
Statement : G<L=Q, W=T>Q

Conclusions: 1. G<T
II. Wz2L

Choose the correct option :
(1) Either conclusion I or conclusion I is true. (2) Both conclusions I and Il are true.

(3) Only conclusion [ is true. (4) Only conelusion I is true.
Ta e H, A Fu & q% A e 1ok 0 Remg g | R e wE ¥ TR W W1 o searEha
~N

frrd @ ST A T 82| i
#A: D>B2W, Y>WaM ¥, 3
fi=s: I B=M 7w

II.M<D .~ Q e
(1) wra e Ped naE e ;g_m) 1o g€l
3 Faafrediaatl ) FeaBsinaal

In this question, two statements are followed by two conclusions, numbered I and II. Find out which
conclusion(s) is/are definitely true, based on the given statements.
Statement :D>BzW, Y>W>M

Conclusions: 1. B2M

ILM<D
(1) Either conclusion I or conclusion IT is true. (2) Both conclusions [ and II are true.
(4) Only conclusion I is true.
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(3) Only conclusion I is true.
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ifa and David are sitting around a circle facing away

Six friends Vinay, Kapil, Suman, Mulkul, Nﬂ% B ATOY
from the centre. Mukul is sitting third to the leRt of Vinay and Suman is sitting to the immediate left
of Vinay. Only Naina is sitting between David and Vinay. Who is sitting second to the right of
David ?

(1) Vina_v 2 Mukul (3) Suman (4) K.Bpil
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1) Entn ] z=d 1] zre implicie. (Z; Neither I por Il &= implicit.

43/ Ozlylis moplicst. 4y Only I is implicit

vz 557 5 37 Tm 55, T, 5, . T A e B 15 A 5 =S b L Eee e

*quzrzvir'?rﬁ'rprvrﬁz?-rz'r_*:anma?:ér;aa?j%mf%’a‘

Lo AT EAA rraﬁ?wvhrmﬁaﬁamwéa’rwm'ﬂ%
..,?;Wrﬁrvwwavmélwr%—aﬂamwéﬂ

(2 =37 14) FFAER

~ -
1 .r;‘i__\ "y

ErE 7
tA s 12) TAR
M&mtixlﬁd:ﬂ'sizaschw!.ﬁzBhanu,B&g.‘:ar,AbduLSbekhar.KamalandDeveah_Su{m
e 8 1o gzrmes tescher in the school, éflbe teachers is allocated one day for taking games
t!asd.ncgmdaﬁdtbew&ek.?heﬁ:mﬂtﬂdaﬁm“unday Abdul takes the games class on the

’W:mdq:adu!of?.aghm.ﬂhanuta#gstb&gamchﬁm Priday and Shekhar takes the
Fsmadaasonedayaﬂerﬁhekha.r. On which day does

Biex chany on Wednesday. Kunal takes the g

Devesh take the gzmes class ? —
1) Ssturdzy (2) Viednesdzy ¥ (31 Monday (4) Tuesday
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below is a question followed by t=o statements numbered I and I, each coniaining scme

Given
information. You have to decide which of the staiements isfzre suffident to answer the question
Rezd both the statements and decide the apprgpriate answer.

=]

What'sthenumberofsmdemsinthedais?g

Statements : g

L  Rank of Chetan is 19 from the top and 42°* from the last.

IL. 11 students got lower rank than Chetan. : . =

(1) Either statement I alone or statement IT alone is sufficient to answer the question.

(2} Both statements I and II together are necessary to answer the question.

(3) Statement I alone is sufficient to answer the question while statement II alone is not
sufficient. ba _

(4) Statement II alone is sufficient to gwer the question while statement I alone is not

sufficient. tg
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13, 27, 83, 335, 2
(1) 1128 Vé) 1679 (3) b48 (4) 672
What should come in the place of question mark {fdn the following number series 7

13, 27, 83, 335, ?

(1) 1128 (2)° 1679 548 (4) 672
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In this question, three statements are given, followed by two conclusions numbered I and II
Assuming the statements to be true, even if they $8¢m to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) fngm the statements.

]
e All cars are buses. ¢ All buses are ﬁs.
™~

Conclusions : e
I. Al cars are gifts. 4
II. Some toys are cars. .
(1) Both conclusions I and II follow. (2) Neither conclusion I nor II follows.

Statements : :
« All toys are gifts.

(3) Only conclusion I follows. (4) Only conclusion II follows.
'ﬁqiﬁiﬁﬂﬂmmfﬁqﬁhﬁ@gwmmméﬁﬂ :
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Refer to the following letter sequence and answer tlie question given below :

(Left) P,T, S, A, Q, R, G, P,Q,N, D, F, L, H, R, F, & N (Right)

If every third letter in the given sequence is refffaced by its next letter in the English alphabet,
which letter will come second to the right of the fififfenth letter from the right end ?

(1 Q 2 T (‘?ZR“ 4) S

R A S
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ggaﬁf;;;?mmW(R)%mﬁmﬁaﬁqwg;ﬁwﬁﬁmq@qm@@m
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(1) (A) 38R, SFFT (R) T 2| ~ .

\/2)/ (A TR, A (R) wmrd)
@ (&) 3R @ Eawn (), () Fr et =t
@ (&) MR T, W (R), (A) Frad =T TR
Two statements labelled as Assertion (A) and Reason (R) are given. Read both the statements
carefully and select the correct answer with the help of the codes.
Assertion (A) : We celebrate Republic Day on 26t January every year.
India became free from British rule on 26t January, 1947.

Reason (R) :
(1) (A)is false, but (R} is true. Al ) :
(2) (A)is true, but (R) is false, ~

(3) Both (A) and (R) are true and (R) is thegrrect explanation of (A),
(4) Both (A) and (R) are true, but (R) is nm%a]e correct explanation of (A).

[
2 e, T (A) aﬂtm(m%\smﬁm@ﬁﬁqm% | T et T e afe iR 2 i werEr

& et I M| _
e (A) ;T AT o SEITET g fear o T R |
FRO(R): TG aTe At & st are €1

(1) (A) 36 8, AT (R) T |
@) (A)EHR, AR (R) @ B
A (A) 3 (R) 2T T § T (R), (A) B Ed =@ R |
(4) (A) 3N (R) T U &, AH (R), (A) Ao AT TE R |
Two statements labelled as Assertion (A)rfgnd Reason (R) are given. Read both the statements
carefully and select the correct answer with@he help of the codes. .
Assertion (A) : Use of electric vehicles is betag promoted.
Reason (R):  Electric vehicles are more e nment friendly.
(1) (A)is false, but (R) is true: : ;:

(2) (A)is true, but (R) is false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and R) are true, but (R) is not the correct explanation of (A).
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Six friends 4, L, K, D, BandGaewmnganaﬁmchfm:ngmardshmh. A’ is sitting second to s B FTHAE ‘AB?ﬁlﬁﬁ% g\(: &b (}_
d:ekﬁcf‘(}‘ard‘l’}'umgﬁmthmlheng!ﬂof‘lﬂﬂ xssttungmthemmt,engmqrcc» e | o
Who i= gisting at the exreme left end ? r\' ¢ = *Q+S+M-F, msﬁ'r%fwnmmgo 1
- {1) Forar =1 w3 (2) wFag
L 2 D =) A 4 K ; s B means ihits e ifiut s \z@/ﬁm*ﬁ“ ) =
= 5 = s S o= - = eans eof B,
15 _u:r«ﬁ_ﬁ@@mﬁmammlmwua@mmmm § ‘A— B means ‘A is the father of B r(:f
mm@mla‘fﬁl m%l r ‘A x B-means ‘Ais me bmtherofB“ ol
‘A + B" means ‘A is the daughter of B", #*
85 A Based on the above, if T+ Vx Q: S+ M_F, then how is ‘M related to T ?
v - ¢ (1) Father'sbrother  (2) Mother’s brother (3) Father's father (4) Mother's mother
f 17. 1 TSI 0 §Q, O 907 7 %2, ‘a1 34 S By et A 2 10 5"‘*“‘?-\ ~a
¥ a2 T59 GieAaT § F4 dafa & 2 A0
'} P N, WA
S i g) T:smhmm, > m:g}i @ fam wof i Gl
o : ointing to Sus a man said, ‘She is the only daughter of my daughter’s paternal gran
FEET :.Q i How is that man related to Sushmita ? Feangterel my denina i . et
gﬁﬂawmsﬁﬁmmmﬁ _F' (1) Father’s brother  (2) Mother's brother %J Father (4) Brother
o = % B 14 4) 17 : Wi 3 L0 :
——— ;. ; 18. G AT U § TeCid §U MIEH 8 T 1 A g 1@ 3 312 R e v 4 s 0 3 i i
Smﬂ_vtﬁégrm:dzzgrzm carefully znswelr in di - -8 TR - - = s R -
- e and the question. The number in different sections mlaﬁammﬁmmu,mmag@%q Fearo
caxber of persons who spezk different languages. ! = 5 : E I
ctes W s @ ®r - @ @ s
One morning Raghav met Bhaskar while walking in the park. Bhaskar noted that Raghav’s shadow
” was exactly to the left of Raghav. If they were facing each other, which direction was Raghav facing ?
v ami] (1) North (2) South (3) East (4) West
AA ! 19. mqmmum@aﬁmsﬂtzmqﬁaﬁﬁmmfﬁtmmahzhnaarafﬂﬁqarq
1 lrs'fmafrf3mm|mawqmweﬁﬁmmﬁmﬁmwsﬁtwm{an 10 km 1 g0 @@
~ FF S TG | S0 TSN FrTerd F A 27an g e 32
ke English s (1) 13km (2) 14km (3) 10km @ 12km
& the pumber of persons 'hﬂwkaﬂﬁzﬁwolanguages" 3 Arpit started from his office and travelled 2 kmQbwards west, then he turned right and travelled
a 22 @ 2 q,; 14 @ 17 ] 2 km and then turned left and travelled 3 km. Erpm there he took 2 bus which travelled straight
— ; _ towards north and he travelled 10 km by this %I:ls and reached his home. What is the shortest
TE &5 % foIm %17 | SPACE FOR ROUGH WORK ; ce between his home and office ? ~
g ) 13km (2) 14km (‘:_!_‘-}& 10 km (4) 12km
i = . o 3
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w A fage Rj ‘: Which of the following fraction lies botween ; and -g ?
L W 1 m 3 @ & @ 3 @ 2
ﬁ ‘ .
Qﬁ‘mﬁaﬁ"m'H"'"gﬁ':mmm“"““mﬁﬁm’ﬁﬁmwmmg-ﬁﬁﬁmﬁ 9. TN ST B 260% ifie 3t wre g st Zmﬂmmommqmymi%m B0 T 347, 3
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e e ™ s
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Study the given dingram carefully and answer the question. The numbers in differont sections Rakesh obtained 26% more marks than Ambu,tgnd Suresh obtained 40% less marks than Rakesh
indicate the number of students who hnvorg‘corcd more than 70% in three subjects, Physics, Marks obtained by Suresh are what percent lesfshan marks obtained by Ambuj ?
Chemistry and Mathematics. Q ;It;
Physics tg (1) 28 (2) 30 3 20 (4) 26
R
- 23. -3t} i Ty weh wea R 4, 9, 6 B R St o g9 et 3 AT A e, ¥ G
H )& b
2 (1) 979 (2) 982 (3) 972 dl( 976
A The largost throe-digit number which gives the same remainder 8 when divided by 4 9, 6is
v Chemistry y (1) 979 (2) 982 (3) 972 ' (4) 976
.. by N
: . i N
Mathematics ‘ _';wuﬁ m%wMﬁ15%mmﬁm;aﬁmﬁﬁm%mﬁ@mmm@r2100wﬁ€ﬁﬁm@m
What is the number of students who have scor‘q{li more than 70% in both Physics and Chemistry, but | _ aft I/ 20% T BIel | AT TR e (¥ ) "@
. ¥
not in Mathematics ? ~ : 7 '}.,\"‘l ; ‘/(l'f‘ 80,000 (2) 31,600 gﬁ) 27,600 (4) 29,000
W 6 @ 12 ‘3’(3) 2 @ 4 -
Pl
— faﬂ ——— 4 \0“ Scema sold a laptop at a profit of 156%. If she had bought it at 10% less and sold it for
CE FOR R d
‘\ hi fera e / s i ;_91 wo ) T 2,100 less, she would have gained 20%. What was the cost price (in ¥) of the laptop ?
b . ol .
4+ XA / AS /’\ K'\ / ,;o /{\ 'Vdo\ 5 7 \} i | . D 80000 (2) 81,600 (3) 27,600 (4) 29,000 -
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25.
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The average age of husband, wife and theirglild 4 years ago was 24 years and that of the husband
and the child 5 years ago was 19 years. Thc@'esent age of the wife is :
~N

(1) 36 years (2) 37 years D (3) 30 years (4) 34 years

3 .
7 2,400 T T 2 9 F wwafg =a i v Fifvea 0w s w7 8 gaifm g T 2,904 T Sl @ | T

3T 90 9 B S AT 471 0 T WL S471 (S H) F0 8 ?

(1) 460 (2) 480 (3) 389 (4) 436

A sum of ¥ 2,400 amounts to T 2,904 in 2 years at a certain rate of compound interest compounded
yearly. What will be the simple interest (in ¥) on the same sum for the same time and the same rate

of interest ?

(1) 460 (4) 436

(2) 480 ™~ (3) 389

~

o
s IR WO ST X O 9 2 1,451-288) St & | AR v i 4% 2% siferen €, d uf¥r T 27 A
et | e o o e 2 2 Q

(2) 71,380 - "1; (3) (4) 1,275

(1) ¥ 1,350 T 1,200

An amount becomes ¥ 1,451-25 in one year on simple rate of interest. If the rate of interest was
2% higher, the amount would have been ¥ 27 more. What is the amount invested ?

(1) (2) ¥ 1,380 (3) ¥1,200 (4) T 1,275

z‘laﬁzﬂrﬁmaﬂrm%mﬂ@gﬁmﬁ,maﬁ@%ﬂwﬁﬂ@% ST g1, A Foel Hall H 20%
13y o1 | 7f% wal Y e e 10,000 oft, it 37 =1 W Ay w1 HeET o -
(3) 4200

¥ 1,350

(1) 4800 (2) 5000 ~ (4) 4400
o nd Bharti, Abhay got 55% of the total valid votes, and

In an election between two candidates Abh
tal number of votes was 10,000, the number of valid

20% of the total votes were invalid. If the

votes that Abhay got was : F\q
(1) 4800 (2) 5000 L@ 420 4 4400
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Saurabh can complete a piece of work in 20 days. He worked for 5 days and left. Anirudh completed
the remaining work in 12 days. If both of them had done the work together, the work would have
been completed in how many days ? :

8
(4) 8-
9

a 9 @098 N @ s @ 88
2 o 9 ‘(;'S

7 3.2 2.__.1..1 1_85 b7 ¢

L+ iFIZ-=—F1-+ 4= + —F 3 4

i %" B ¥ % g a8 U q/:{ A
3 8 ki >, 1)'\-.'

= @ — v (3 1 @ - s
7 5 i 5 O

The value of :"} ,ﬁ A%
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3 8
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7 15 ; 5
ze,eooaﬁL.Maﬂtwﬂ:aﬁas:s:g%mﬁaﬁm%mﬁmaﬁmrmifsm.‘wﬁﬁmﬁ!
L, M 3R N & et o argama & -

5:7:11 2 5:7:9 (3) 3:5:9 (4) 8:7:9
T 6,900 is divided between L,MandNin%ratio of 6:8:9. If L' and ‘M each gave T 300 to N,
then the new ratio of shares of L, M and N ig3

th
(1 5:7:11 2 5:7:9 ‘,E} (3) 3:5:9 (4) 3:7:9
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JSA-2023/BT (14) 3 g ¢159 JSA-2020/B87
g3, A T T 116 T kg 3 T 128 N kg, T 2 : 1 3 5w A firemé el & 1 g w2 fopewr o wfs | = mmwﬁﬁmﬂmmﬁmmaﬁﬁmmm:{;ﬁ“' 2
g 3 (2 ) Per 8 2 s mfl;:; ail d AR e A, B, C s D @ 1Al WwE afw & A T o H e
Eeupidl
2y (1) 122 2) 126 (3) 115 gt 120 f“
Wt Two types of pulses of rates ¥ 116 per kg and\R 128 per kg are mixed in the ratio of 2 : 1 af - [ 2018 | 2019 | 2020 | 2021 |@922 )
3 & respectively. What will be the price per kg (in T) gthe mixture so formed ? g vt i g ; e
— A ‘ N . -
'5_."-"10 (1 122 (2) 126 : @ 115 (4) "120 3 o] o = L
>t N A | 8 | 78 | 82 | 83 [Rbo ~ 1 ks
- 383 ¥ \ %
i 1 - ' B 83 | 84 | B0 | 78 |H75 eE | 24
34. qm_ssoﬁaaﬂammﬂmﬁmqmga%lzﬁqzqmaa?hmgaﬁwaréoﬂaﬁ}ﬁwﬂ J : 5 '11
29 c 70 8 | 81 65 | 79 3 —
M7 1150 (2) 1180 3) 980 (4) 1050 - i D Ll BB B W
A 350 m long train running at a speed of 72 kmvh crosses a bridge in 1% minutes. What is the length 2019 @ 2021 @ 1241 aTE qften 7 A= 2t T A e dem Fen =g § g s 22
(1 C (27 D 3 A 4 B

of the bridge (in m) ?
Study the given table to answer the questioftthat follows.

(1) 1150 (2) 1180 (‘:j'h 980 (4) 1050
2 i 10 firie 3 g 48 ka/h 11 @ St o 15 e R 60 ke TR AT AR IPIANF The table shows the number of students ¥ljo appearcd in the 12** Board Examination from four
T 3 Gﬂﬂaﬂﬁl( ﬁ) 21+t 2 Ty I schools A, B, C and D in different years. wn
km/h s LD L
(1) 654 2) 56 (3% 54 @) 541 _ Year —»| 2018 | 2019 | 2020 | 2021 | 2023
5 it 2 #
Rajiv travels at a speed of 48 km/h for 10 minutes and at a speed of 60 km/h for the next 15 minutes. Sdlﬂﬂl ;
What was his average speed (in km/h) during the whole journey ?
1 A g1 | 78 | 82 | 83 | 80
N 55% @) 56 (3) 54 @ 543
S s mE pE I T i B |8 | 84 |80 | 78 | 75
" 86. ﬁmﬁwé@mﬁwm%%lsﬁﬁmaﬂtmhﬁﬁ@mﬁmmw%? _ c 70 | 8 | 81 65 | 79
D 78
nA 3= 3351] 64 (2) 66 (ﬁ 61 (4) 63 . 69 86 89 Sf:i_
i L}:; av e:;lge of su:. consecounve odd numbers is 6% What is the average of the lowest and highest From which school is the total number of ﬁu{enm that appeared in 12 Board Examination from
Y -3/, numbers out of these ? 2019 to 2021 the highest ? 7
o
g MW @) 66 “'rﬁ 61 (4) 63 @) (2 D N @ A (4) B
1 : t =
. 8 T wrd & ferg g | SPACE FOR ROUGH WORK o % & & ferg smg F'SPACE FOR ROUGH WORK
lgff”ﬂ“ EER— O i + 60 0%° ‘{}5/ JoerS) f\) L )
b e\ e+ | ¢ o v
J ;o B Y pem® f _3’0 o M‘f )
. == .r...ﬂ e ‘/ﬁ | : - l\‘}‘__ /_.,.‘ \1( {\l' ‘
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58, e 12 T i oftem g 8 7 & 1 e 3 it TS e H anfier g ona &, ot o F 1 vl A
mﬂlmﬁmm@ﬁaﬁmm@ﬁmm%?

The average age of 12 boys in a group is 8 years. If 3 more boys join the group, the average is

increased by 1 year. What is the average age (in years) of the three new boys in the group ?
9 (4) 10

’,;, M

(4) 10

(1 12 (2) 13
39. igshdiwaar i dfv=sadr o
) 1987645 (2) 2875944 {8 3587645 (4) 4873524
Which one of the following numbers is divisible bﬁ] ?
(1) 1987645 (2) 2875944 ) 3587645 (4) 4873524
40, fafimr ot o o wiER 1 e sy O | qian 4 @ | afe aftaw #1 g saw 72,000 &, @t R sk
AT =7 (T o) feam 2 7
W FHA 4 (T H) . > {%‘p
;{’40’0 3
‘-}?
N
N
o
w

¢ 22,000 (4) 25,000

in the pie-chart. If total expenditure of the

\,fo 30,000 (2) 82,000
Entertainment ?

Total expenditure of a family on different heads is-shown :
family is ¥ 72,000, then what is the total expenditiire (in 7) on Education and

Entertainment

!

Medicines

Transportation
]

Education

5022

(4) 25,000

19 22,000

- (2) 32,000

(1) 30,000

i

41.

% &l & forg g / smét FOR ROUGH WORK

42,

43.

(17) JSA-2023/B7

W 111/ Part 111
HH AR/ General Awarcness

e # Freferfaa # & e sifirams o e oy emfin g @y
T T 1970 5 91T Y afesndt wfmr at sremar mar wrifi-aereh from
T ZT Siafter § Tee 39w Srer 9w
T 1 1962 % =17 3 foreg; srermar man fedie el v
. o7 1 1974 B TR G O a0l
«gmiling Buddha' was the code name for which of&le following operations in India ?

(1) India’s peace-keeping mission on the westenrf}:order of Pakistan in 1970
' -

(1
(2)
(3

(2 India’s launch of the first satellite into space 4.

(3) India’s counter insurgency operation against China in 1962

(4) India’s first successful nuclear bomb test in 1974

v 3 Freferfaa § @ -8 78T 7 57 2023 # 2023 whaiy aw F9° H S fRa
W (2) STEWEER (3) HicTHTar ) Ha§

Which of the following Indian cities hosted the ‘2033 Squash World Cup’ in June 2023 ?

(1) Chennai (2) Ahmedabad ('c3g Kolkata (4) Mumbai

Ul
ﬁﬂ%@ﬁﬁ&%ﬂmﬁ@ﬂ‘ﬂﬁ%ﬂﬁﬁ@&)éﬁﬂ%ﬁﬁtﬂ%ﬂ—18@@1312020—21%5&3;3&

fregf adt g e e
1) e (2) demET (3) wWewrg (4) afieErg

Which among the following States has seen a steady increase every year from 2017 — 18 to 2020 — 21

in the overall scores of Performance Grading Index (PGI) ?

(2) Telangana (3) Maharashtra (4) Tamil Nadu

(1) Chhattisgarh

oI # et Yoy U T HAT0H B ARasES SIMTH (SANKALP) 91 Hiet faem wea

Freforfia & & fradht aemar & semrmTd 2
~

(1) arh @ fava a5
)

(3) FEY @] sttt o

Skill Acquisition and Knowledge Awareness 1‘.;.’ Livelihood Promation (SANKALP) is a skill

development programme in India assisted by whic}fof the following ?

(1) SAARC (2) World Bank

(3) USsA (4) International Labour Organization
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5. Pefita § @ ea os mowrd el & 2
() . (2) TSR (3) WS (4) diferefiT
Q ,
=]

Which of the following is a thermosetting plasticy?
[ta}

Vrﬁ PVC

™~
(2) Nylon I~ (3} Melamine (4) Polythene

i
h.
46. TG o fFa T 1 UES NI ST BTERET ET AT °T 2
(1) v @) = 3) e ) FreE
Which Indian city was earlier referred to as the ‘Manchester of India’ ?
(1) Patna (2) Chennai (3) Ahmedabad (4) Kolkata
Eoind]

47,  S&T I 9 AT

#17265022

(1) 3,00,000 m/s —i(2) 30,00,000 m/s

) 30,00,000 km/s

%,

t/(51) 3,00,000 km/s

Speed of light is about ;

(1) 3,00,000 m/s (2) 30,00,000 m/s

(4) 30,00,000 km/s

(3) 3,00,000 km/s o
~
A
48. mﬁﬁm-ﬁw%mgﬁmﬂﬁmm@%aﬂﬁaﬂmm?
™~
(1) @S R __u"'_‘{z) g&r{sf%?m
@) TRmEE (af e g

Which of the following teams won the Tata Indian Premier League 2023 title ?

(1) Lucknow Super Giants (2) Mumbai Indians

(3) Gujarat Titans (4) Chennai Super Kings

RS

49.

52,

| (19) JSA-2023/B7
frmferfera 7 & e v At i i o e 3w i s s g 2
(1w @ = @ R

(4) amEr

Which of the following places is known as the ‘City of Peace and Justice' ?

(1) Montreal (2) Munich (3) The Hague (4) Warsaw
e 1 Frrferfiem & A -e Ut 7 @ form e i g e A gan &9

[l
) (2) G @ A= (4) ¥

(V]
Which of the following rivers in the world dg_hls not have a single bridge across it 7

(1) Amazon (2) Negro Hoo@ Nge (4) Thames

wiefeft swifer-as St Feferfiad & & #-a1 fos wamama @1 welies ot 7

() Fng sfet st (@ v e e e o i i s wia
i areft & (farg i

3 ) ) g

Which of the following images during the French Revolution stood for the symbol of Eternity ?

(1) The eye within a triangle @ A snake biting its tail to form a ring

(3) The winged woman E{ (4) The broken chain

o - ST T T S et o e & s e e Shereey g S
srferforam ST o AT S g °

(1) 5 rfer At

(2) Wi fora ifeh W

(8) TS el wT

(4) e afe W fafirer it

Which of the following organizations isf'qssociated with the people’s movement for Right to
Information which eventually led to the enagpment of the Right to Information Act ?
L

(1) Jan Adhikar Morcha : \C;
™
(2) Mazdoor Kisan Shakti Sangathan l'"-
A
(3) Safai Karamchari Sabha ~ #

(4) People’s Union for Civil Liberties
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s3. i ¥ FreratEs § 9 298 01 A S 2023 § 60 fand e g Bﬂfﬁ‘ﬁzﬁmﬁm anmmﬁmmmﬁmhwmmﬁﬁmmmn?mmﬁmﬁ
T ar? FTEAATAT BE1 59 8 A w8 o ~
. o
; (2) aHEZ 3) =g @nﬁan — :
(1 A S T— h‘ ) @ —— a Frga > FmEz > R @ T T > fs
In which of the following States ost the ‘Hero Asian Chaz‘;arlons Trophy" hockey - faET > zwEz ) : -
tournament in August 2023 ? *t (3 WIS S N (4) Frqn > Ttz > Taem
. . ’ ; Which of the following options depict the edffect chronology in which the i
(1) Punjab (2) Tamil Nadu '(Ej Manipur (4) Odisha ) created in independent India, starting from 1_#,; State creagfmtothe Ianb;.am et
54 Frekiad 18 TR U Saim AR U2 iideza S 3229 (STARS) Wide i e 72 £ 7 ) (1) Tripura > Jharkhand - Nagaland (2) Meghalaya - Nagaland - Mizoram
= = (3, ,\[eghalaya - Mizoram 2 Jhal'k.hﬂﬂ.d {4) Tripura > Nagalami = !’lgghala
(1) TETE @2) FATE =
(31 e (4) TS=H o - 5
Which of the following States is nof covered under Strengthening Teaching-Learning and Results for 58, WRdH Hfeiee s T F a2
States (STARS) Project ? . N ; () @A FETH n @ TR
(1) Madhya Pradesh (2) Karnataka % - (3 Al g\gg T TR e
(3) Himachal Pradesh (4) Rajasthan N Who was the founder of the ‘Independent Latl'axr Party’ in India ?
s o
55, w7 fHifa, 2020 § ZfeafEa weaeE sﬂvﬂaﬁﬁmaﬁwmﬁaaqmnnnmwﬁiw (1) B.R. Ambedkar _ ™ (2) Jayaprakash Narayan
WAL ? . ) (3) V.V.Giri # (4) Ram Manchar Lohia
) 79710 J2f B2 9HF12 (3) 726810 (4) TZ6H 12
" icular and Pedagogical
Which of the following grades does the Secondary stage cover as per the Curri - - i IR - ‘ X
Structure mentioned in the National Education Policy, 2020 ? 5 I |G % STER AT F1 9o €6 W 6 fefataa § & PR g atee feta T am
(1) Grades9to 10 (2) Grades9to 12 (3) Grades6to 10 (4) Grades 6to 12 27
sa. B i o e 7 i e wAm (NAS,_mﬁq@mﬁmafﬁﬁﬁmmmm §¥) mmmmﬁﬁﬁmwm
a7 N (@) @ frim F v 4 e gaem
) T e AT 5 (N1OS) % by e—— g
- ’.’ -~ o " : - - 3
(2) #Fameai T ETé (CBSE) N (@) i v g acier Fr g D
3) A TaE FFEaA SAv afrge 7 (NCERT) B ~
4 TR AiEF DA A TAE 954 (NIEPA) hd Which of the following Fundamental Rights r;;rwt suspended when a Proclamation of Emergency is
loping the Assessment ! . ; i
tusk: of developing In operation according to the Indian Constitution ?

Vihich of the following organizations is entrusted with the ’
Framework of National Achievement Survey (NAS), 20217 ] !
L/U{ Protection in respect of conviction for offences

(1) National Institote of Open Schooling (NIOS)
(2) Central Board of Secondary Education (CBSE)
(3) National Council for Edueational Research and Training (NCERT) (3) Freedom of specch and expression

(4) National Institute of Educational Planning and Administration (NIEPA) : _
; (4)  Freedom to assemble peaceably and without arms

(2) Equality of opportimity in matters of public employment
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60, Freifrfaa i @ wem & & 2023 F1 92y Fnyor qeaT R ser v ?
(1) AT FHETR (2) THUH F (3) SR EEA

Who among the following was awarded the Padma Vibhushan 2023 in the field of Art ?
(3) Zakir Hussain (4) VaniJairam

(4) it SH

(1) Suman Kalyanpur (2) S.M. Krishna
T % il waaT 2022 - 23 & A, A 2021 ﬁz%%{qmma«hﬁﬁ%wﬂfﬂﬁm%
o e T et W AR ST Had AU R 2 o
(1) I3 wfiE (2) HTARE Q) stege (4) Wi

According to the Economic Survey of India 20B2 — 23, the School Gross Enrolment Ratio is the
highest at which level of schooling as per the lateﬁ‘ data available for the year 2021 — 227

(2) Secondary (3) Pre-school (4) Primary

61.

(1) Upper primary

62. fi=fefn & & 953 syarrert quapn (rbert 31ard) 2023 H wdiy fetivme Erat frew &1 R FFd wem
feram T 2
(1 Avam (2 RFme
f& ufere Rgerad (4) it Fa1ge 39 & Jred e
Which of the following was awarded the ‘Best r{fzternationnl Feature Film’ at the 95" Academy
Awards 2023 ? o~
o
(1) TAR Eg} The Quiet Girl

1(3) The Elephant Whisperers ﬁ) All Quiet on the Western Front

63. a7t stmisfia wEre fere (g Tafir 3) w3 o 7 et # 7 & o sechver sfor e
srraifora foven e | g o & steriefia wmerer feaw w1 oftw
(1) wferE, A, deha (2) wgfrveaeAfafd, ds da g
(3) wafimem o el (4) wafmm, B, feslt’

An International Museum Expo was organised in May in New Delhi to celebljate th?e
470 International Museum Day. What is the theme of the International Museum Day for this year ?

(1) ‘Museums, Memory, Welfare’ (2) ‘Museums, Sustainability, and Well Being’

(3) ‘Museums are History’ ﬁ) ‘Museums, Heritage, History’

o

LN -
Freafafiga i & forg w8 & <airpferar ofk ‘ﬁ’mgﬂﬁmmﬁﬁﬂqm?ﬁ?ﬁfﬁﬁw%
AT QT AT 2 ~

v .
1 wRr (2) W 18) qo@ t(4) gEld
Which of the following planets has moons called ‘Ophelia’ and ‘Puck’ which have been named after
characters from William Shakespeare’s works ?

(2) Mars (3) Uranus (4) Jupiter

(1) Pluto

B
65.

66-

67.

68.

(23) JSA-2023/B7

freafafaa 8 Teely R 2 - ;
'q;?ﬂmﬁwrﬁ:-:w T 2020 % e s § Rrgi e ) i et gt 3
ATH ; ﬁmmmwﬁ&émﬂméﬁﬂﬁmeﬁ.%m@mﬁﬁ
T WY S ? 1
(=]
1) T HEAA s i
( D (@ R w g
@ o e N @ e frerendt
Who among the following is the winner Bf 2023 ‘Goldman Environmental Prize’ for winning a
Jandmark case against ‘Formosa Pinstiga', one of the world's largest petrochemical companies, for the
illegal dumping of toxic plastics waste on Texas Gulf Coast 7
(2) Alessandra Korap Munduruku
(4) Delima Silalahi

(1) Tero Mustonen
(3) Diane Wilson

efreiveor e &1 A e anfider sfter s (Rerh e i) Rramr e 22

) 7°CH1T°C @ 7°cy¥FW 3) .24°C & atfir 17°C& 24°C
What is the mean annual average tﬁ!mp?rt\l}turte (in degrees Celsius) in ‘Temperate’ vegetation
zones ? o™

o o
(1) 7°Cto 17°C (2) Below 7°C % (3) Above 24°C (4) 17° C to 24°C

sriver 2023 T S ¥ M R 31w 2w, 2doh R & rga, wed arves TR deE # W@ F F
—

v foee e 8 2 _ a

(1) 60% (2) 70% (3) 40% (4) 50%

As per the ‘Status of Tigers, 2022 Report’ released in April 2023, what percentage of the total world

wild tiger population does India account for ?

(1) 60% (2) 70%
oy & ait i Frefefad d d fara-d s ad ¥ 2
A, Pt wrae & oo R gt e e v smwwaT |
B. deem QAR e FAdAR |
C. Hﬁﬂéﬂ,ﬁﬁ?mﬂﬁm?lx
2 fw mu e & wet Iat T A
(1) e BIRCTHE BEE®

@ QEIHAG?RBW\V 4) ¥aARCEAE

Which of the following statements is/are correct about friction ?
A. Friction can be entirely eliminated on any surface.

(3) 40% (4) 50%

#17265022

B. Rolling reduces friction.
C. Sliding friction is smaller than the rolling friction.

Choose the correct answer from the codes given below :
(2) Only B is correct

(1) Only B and C are correct
(4) Only A and C are correct

(3) Only A and B are correct
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JSA-2023/B7 (24) 3 : = (25)
69. Tta v i (NEP) 2020 3 Feraur 3§ R R 91 @ TR U 9o 13 (NCE) ¥ ? | W“m::r:’mmw
i W01 (AT st
& FH-gUHI-H Tie 8728 ? ~ Langy,
&¢ Competency Test (General English)
A. < fran & fag NCF '
! 1. Choose the best option in which the

B. i Sreawrer d@wrer 3 firenm & g NCF Voice! E“’i!:.'lqsunt,enw has been changed from Active Voice to Passive

~ F
C. merfes firer % fg NCF ~ 1 lost my watch in the rura] fair, 3

o n

(T3] 1) In the rural fair, I lost m 0
D. =grEEiy firen & fog NCF rL\oJ ;{ ot ¥ watch, R‘ (2) My watch is lost in the rural fair.

My watch has been logt ;
ﬁﬁqw@ﬁaﬁmﬁrw: o : : } stin the rural rﬁ" \}M/My watch was lost in the rural fair
(2) Fad A, B3C 3 ¥ A (4) FC D the option which
1
yg. Choose correctly identifies the tense of the underlined pa:t in the given sentence
Mu’ meet you soon ? :
: (2) Simple Future Tense

(1) FTTANRB
Which of the following is/are among the four National Curriculum Frameworks (NCF) being
Past Continuous Tense
(3) Simple Present Tense '\/{Present Continuous Tense

developed under the aegis of NEP 2020 ?

A. NCF for School Education
B. NCEF for Early Childhood Care and Education
73. Fillin the blank with the appropriate f“"‘%f the Verb that agrees with the Subject
=}
a raisefin salary from the coming month.

\M’( wants

i Each one of the workers

C. NCEF for Spiritual Education
(2) have wantecm (3) want

D. NCF for Vocational Education ~
N , .
Choose the correct answer from the codes given be[ﬁ ! )
: ; (1) are wanting
" (1) OnlyAandB ' (2) OnlyA,BandC (3}50nly A (4) OnlyCandD : N
. 2 )
: <o . _ i e
70. fEfefaa FvAi w fem fifg $ - / 74, Fill in the blank by choosmg the correct form of the Verb.
A. g airea gt i 3 g fferat Fies S fegear €1 By the time I met him, he reading the voluxmnous novel.
B. e (e T ot O, G gogeredit feegearit e Sieft & wafes vt €1 (1) was finishing (2) will finish (3) finished M had finished -
et I T I g ' '
= Remg e 4 g&t #ifsrg . ) 1 Read the passage given below and answer the questwns (75 - 79) that follow :
(1) A3RBIHIGENE (2) FAATHRA’RTEB _ -
Dadi had come to the hospital for operation for an eye ailment. The operation had gone well an
(3) AudigfdgBreas (4) AneadfigBaee ; y
. : ' she was on the road to recovery. On the dayﬁf the expected discharge, when Tanuja’s mother came
~ -
Consider the following statements : 8 to the hospital to complete the formahtles a.nd take her hqme, she was accosted by some hospital
inmates at the gate who told her, ‘Where hafg you been all this time ? Your old mother slipped from
her bed at night and broke her hip bone.’ @aﬂu_;a s mother rushed in to provide succour to her

A. The two main genres of Indian classical music @e Carnatic and Hindustani.
mother. After emergency treatment, Dadi was shifted to the orthopaédic ward. A complicated

B. The Bharat Ratna awardee M.S. Subbu]akshxr@elongs to the genre of Hmdustam music.
surgery followed which necessitated her stay in the hospital for six weeks for convalescence. In the

Choose the correct answer from the codes given beloth
(2) Neither A nor B is correct

(1) Both A and B are correct .
(3) Aiscorrect but B is wrong (4) A is wrong but B is correct
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while Tanuja's mather stayed

JSA-2023/B7 (26)

hospital, she was looked after by Tanuja and Machhli during the day,

when Machhli found Tanuja’s mother overworked as she

with her during the night. After a few days,
had to take care of her home too, she offered to do the night shift too. Machhli’s devoted service for

Dadi’s recovery brought her closer to Dadi and her anny.'r'

Over the years, Machhli had served many, manﬂmenw but there was something so affectionate,

s0 endearing in Dadi that brought Machhli close to r]?pr Machhli could not help recalling that in her
g the way Dadi

village home too, she had a grandmother who mscm:F‘fcd Dadi in many ways, includin

showered affection on all those who came in contact with her. In the hospital, Dadi showered affection

on doctors, nurses, attendants, in fact, on all those who touched her life even in oblique ways. The

hospital persennel too called her Dadi and gave her due respect and regard.

75. What unfortunate thing had happened to Dadi ?
(1) She had fainted unexpectedly.
(3) She had suffered a heart attack. )g She had broken her hip bone.
. Y2}
¥s]
76. What does ‘convalescence’ mean ? N
(@: feeling depressed
(4) gethng weaker day by day

(Y She had stumbled on the roadside.

(1) showing no signs ol recovery
_J3r improvement in health condition

77. State which of the following statements is true/false.
A. The hospital personnel treated Dadi with contempt.
B. Dadi was affectionate towards everyone. .

(1) ‘A’is true but ‘B'is false. ( ‘A’ is false but ‘B’ is true.

(3) Both ‘A’ and ‘B’ are true. (f}d Both ‘A’ and ‘B’ are false.

78. How does Machhli come out as a person in the pas@e ?
A friendly and devoted (437 thoughtless and frivolous

i
(3) wvain and arrogant (4): cold and uncaring

79. The tone of the passage is :
(1) narrative (2) argumentative \()’;}/ reflective (4) discursive

g
-2028/B7
80. (27) JSA

gl

85.

Rearrange the Partg i
n Correey, o
rd

e 7
T to make a meaningful sentence :

A. and finally caught hip

B. whilehewag Jumping ontg
L o

C. theyranafie, the thiep i,

D. aspeeding byg % r\Nq
(1) BCDA v o
@ ABCD O ) CBAD - ) CABD
~d '
h
Choose the word Nearest ip meaning to the ;Ken word :
MELANCHOLIC ’
(1) Serious
: (2) Sad (3) Frustrated (4) Jubilant

Choose the word opposite in meaning to the given word :

MODESTY
(1) Arrogance 2) Vi ﬁ
iolence o (3) Anger (4) Meekness
"5 ]
kD
Choose the correct meaning of the ldlomfphqase given below :
be down with :H;
(1) being humiliated (2) bidin-g one's time
(3) suffering from an ailment . (4) coming from a poor background

In the given sentence, identify the part which contains an error.

It seems that / he hasn’t met you / for a long time, /is it ?

~
a b [ d
! [ ]
@ e @ d 8 @ a o b
N
Fill in the blank with the appropriate Articlest
' 34
We should always take care of poor.
M the (2) No article @) a (4) an
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7T IV/Part IV

wrar weraT wharor (FrAT R=) o
Language Competency Test (General Hindi

~
ﬁmmiﬁmwmwmﬁa%ms— w)%wﬂﬁm%’!-‘
A

R & e s Prare s s e i ) e e o s & 3 oA R
W"“E’W*%qurﬁﬂw#:mamnﬂt#mﬂm%éw%ﬂwﬁﬁﬁsﬁfw
o1 56 T 5 G 3 g s orar | st g ) e ¥ forg g 4 e 1 og o Feif A
& | Il 1 oy -9 18 7 it e ) 7Y F 21 74 @l w§ & | Frare v wo-ac S A
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Which of the following in not valid about an email address ?
(1) Email Address cannot have space in it

(2) Email Address can have any number of @ sym%]s

, o
(3)  Email Address should have one @ symbol g
(4) Email Address can have multiple dot (.) Opera&*‘s

—
102. @A g (CPU)FT I ETFaTR ? H#:
(1) Central Primary Unit (2) Center Processing Unit
.\_ﬂnf Central Processing Unit (4) Central Process Unit

What is the full form of CPU ?

(1) Central Primary Unit (2) Center Processing Unit

(3) Central Processing Unit (‘R' Central Process Unit

o~
103. 1 @I U Shagite & v # i i s e & it gerite, o afen o wersfer 1 e e st

& T B A e 5 25 ) ) e & | TApGRI e @ - e S g 2
r~
(1) 7RdE (Notepad) (z WHlae I<T (Acrobat Reader)
‘).:n” 77 74 7€ (MS Word) ) & (Calo)

Eena Khande is creating her project report as a document and is interested in typing the same in an

easy-to-use software with facility of formatting, page setting and styling features. Which out of the
following software will be ideal for the same ?

(1) Notepad (2) Acrobat Reader

(3) MS Word (4) Cale

(3) Hyper Transfer Tey, Protace]

.H!HTTPWM s (31)

JSA-2023/B7

(2) HyperText Transmission Protocol

% (4) Higher Text T fer Protocol
Which of the following i the correcy i B ext Transfer Protoc
Ul form of

(1) HyperText Trangfe, Protoco]

(3) Hyper Transfer Ty Protoco]

HTTP ?
0
[a]

E} (2) HyperText Transmission Protocol
]

O :

l;:\l (4) Higher Text Transfer Protocol

i

H:

105_ ﬁqi%ﬂéﬂﬁﬂﬁq.mmm(STﬁmﬁ@ﬁﬁﬁﬁaﬁaﬁhmg?

(6))]

o T P&
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Which out of the following represents STAR topology of Network ?
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106, Freferfiam i @ .5 oo fréae Bz Btz fivd (RDBMS) 1 37T T E

. (4) MS SQL Server
(1) MS Excel (2) IBM DB2 (:nN MySQL
' ement Sygto
Which out of the following is mot an example §ja Relational Database R o
(¥n]
(RDBMS) ? @0
o 9
(1) MS Excel (2) 1BM DB2 (3[MySQL (4), MEBQL Servor
3

107, Frafafas § @ F9-97 0F 359 S50 51 Fi5e GResE T8 87
(1) .tff (2) .png \(/3)/:wav 4) Jpg

Which of the following is not a file extension of an image file ?

(1) .tiff (2) .png (3) .wav (4) Jprg

5022

108. T 7781 UF Siener o zad & uw o1 F9 0 $U@E FAe F W F A0 Friad § 24 Fd 5
ﬁmﬁaﬁﬁwwt&ﬁlﬁsﬁfﬁqﬁnﬁr@ﬁﬁ@%mwuﬁnmm&q?

(1) fofiet (Repeater) o o= &t uy 297 feseed (HDMI Splitter)

/g{ f== (Switch)

Gafoor Shanty is planning to connect 24 computers in his office using Ethernet Cable as part of a

(3) & (Booster)

Local Area Network. Which one of the following devices should he use for the same ?

(1) Repeater (2) HDMI Splitter
(3) Booster (Jrl;l Switch

Qo

|.n

109, m#a#mwﬁﬂmmmmﬁwﬁmmmwmm%mmﬁm
I B 2 *':

/(rl‘) HDMI (2) VGA (3) USB (4) PSs2

Which out of the following ports will be most suitable for connecting High Quality
Audio-Video output on a PC/laptop ?

(1) HDMI (2) VGA (3) USB (4) PS2

¢

110

111.

112.

At 4 P g
() I W g ’rb‘a"‘*“mm
@) TR e "'quﬁ%_
@ e e Sy

@@Wﬁmwmmﬁ%ﬁmqﬁmmmv
(1) FEa1 = HOgv (Collection of values)

(2 YOG (IS T o ahorgy (Conmmm occupied cells)
@ T EUHA HETR (Collection orchosen@n s)
) PIHS THIE (Collection of formulae)

Which out of the following is true about cell rzﬁge in MS Excel ?
(1) Collection of values

(2) Collection of occupied cells

(3) Collection of chosen cells

(4) Collection of formulae

https & ‘s’ W AR ? t';‘j‘
(1) Stream § (2) Space

) Secure E (4) Security
What does ‘s’ stand for in https ?
(1) Stream (2) Space
(3) Secure (4) Security

JSA-2023/B7
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113, FEUrsh & O TaT SEEH o ) A s @ € 1 3R
(1) Hiqtfen fawen (Operating System)

(3) ¥ 9E (Internal Memory)
T i Sen i . horfe] Which one of
arunji Sen is planning to buy a new smartp orﬁ:
be bothered about ? E"i
%) Ethernet Port

%) Camera Pixels

) Wtﬁé (Ethernet Port)}

)/ S feet (Camera Pixels)

(1) Operating System

(3) Internal Memory

114. Prefafea § @ @@ volp Fre@t pfsad ?

/(.Pf Voice over Internet Protocol

(3) Video over Internet Protocol

(2) Voice over Internetwork Protocol

(4) Voice on Internet Protocol

Which out of the following is the correct full form of VoIP ?
()]
(1) Voice over Internet Protocol g) Voice over Internetwork Protocol
(3) Video over Internet Protocol @) Voice on Internet Protocol
™~

~

ﬁaﬁmﬁqa:aﬁﬁfﬁm#ﬁmm&q

0

the following aspects should he not

-] .
115, dw 71 TR & 3 3ig £ e S ¥, i TR AN g 7Y S RIS F g

st 3 for frma s e st @ 2
(1) %2 =T (Format Painter)
y ®IHE ST (Format Copy)

(2) @i a9 (F;erat Move)
(4) S WM (Format Stamp)

is used to quickly apply the same formatting, such as colour, font style and size, or border

style, to multiple pieces of text or graphics.

(1) Format Painter ﬂ) Format Move

=)
(3) Format Copy g) Format Stamp

~
116. mﬁﬁm-m@mwmmm%mg?

(1) .mp4 (2) .pdf (3) .mov @ avi

- Which out of following is nof a file extension of a video file 7

(1) .mp4 (2) .pdf’ (3) .mov

/6‘0 .avi

A
7. ﬁnﬁrﬁaﬁﬁﬂaﬁammwm (35 y _
H"iﬁ‘mmﬁmwmaﬁnz?

(1) TFE (McAfee) o
(3) A1 (Norton) _ § (2) ¥erErRT (Kasperaky)
Which out of the following companies are ,?% y & (Tally)
(1) McAfee known for developing Antivirus software ?
(3) Norton + (2 Kaspersky

(4) Tally

118. ﬁ‘:’ﬁfﬁaﬂﬁaaﬁmmfﬁmm%mm%’
(1) A (Li
b o) N (2) Hifen SIS (Mozilla Firefox)
@ TH (Mac08S) Q@ woEfEE (MS Windows)

. L & \D
Which out of the following is not an examﬂf of Operating System ?

(1) Linux ;k' /(2‘)/Mozilln Firefox
(3) MacOS (4) MS Windows

119. FrefaRad # & #9910 wge fary @wwon 721 &2
(1) wiafEs (Joystick) (2) FWEHS EHAT (Barcode Scanner)

(3) Z=UE (Touchpad)

Which out of the following is not an input dgvice ?
(1) Joystick (2) Barcode Scanner
(4L—Plotter

17265

(3) Touchpad
1k

120. Frefirfiaa § & #-d vl ot i o 2

(1) UFHTETEE (Exabyte)
(3) Freirmse (Kilobyte)

Which out of the following is

(2) TTETgE (Gigabyte)
(4) 9@ (Petabyte)

he largest memory unit ?
(2) Gigabyte

}J, Petabyte

(1) Exabyte
(3) Kilobyte

JSA-2023/B7

(4) <X (Plotter) N
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121, Freffad 3 & 481 oF TR wiee #7168 w1 WO ¢ 7
(1) .xel (2) xelx - (3) :"gxcei (4) xlsx
Which out of the following is the correct file exl.cnsim;’:f an Excel file ?
(1) xel 2) xelx (3) .excel )M xlsx

122. mmﬁ@mmﬂmmmmwﬁm%mmﬁmﬁwﬁ%ﬁ@%mm‘“

T & $og & | 3 39 forw Pt & @ fe w1 g @17
(1) TF(Writer) qraTwAETEE (PowerPoint)

™~
(3) 799 (Impress) @) B (Calo)
. (5]

Vo] . : f »,
Mohak Shangle is interested in making a digital presentation for marketing his company

™~ 7
product using an Open Source Software. Which of ;hb following software will you suggest for the
:

same 7
(1) Writer (2) PowerPoint
(3) Impress (4) Cale

123, FR Feafdn F @i F bps 7 90 wq TR

(1) bits per sysiem (2) r\lijs per system
(3) bits per second (4) g}'tes per second
(¥g]

What is the full form of bps in terms of computer ne:ﬁﬂu‘ng ?
M~

(1) bits per system (2) ;Eytes per system
(3) bits per second % bytes per second

124, UY UF YRG5 F136 F1 UaaesH Fefafaa H e a2

(1) .pwpt (2) .ppoint (3) .pptx @, d

Which out of the following is the extension of MS PowerPoint file ?

(1) .pwpt (2) .ppoint ~. (& .pptx @ pd
Paocx

&

126.

LRSS E R R E £ T e pe———es
AT 202.54.256.30

127.

M T (PARAM)

(1) ARYABHATTA

mamﬁ“&g‘m 0 nt (37
(0 W(ARYAB%’[TA; :
@ e (visyay,

(3 H&(BUDDHA,

265022

T {lrst Supercomputer developed in Ind“h’
1

&

(2) VISHAL
(3) BUDDHA
(4) PARAM

(2) 25.16.25.100
(3) 198.168.30.9 .
(4) 10.10.10.120

17265022

Which out of the following is not an cmm[ﬂé of IP Addresa?

(1) 202.54.256.30
(2) 25.16.25.100
(3) 198.168.30.9
(4) 10.10.10.120

A}

FATRfn fered (Operating System) PRt vz 32 8 2

(1) gRfrd W (Utility Software) Ty

(2) i WA (System Software) F1 A

-

An Operating System is an example of :
(1) Utility Software

(2) System Software

(3) Application Software

(4) Language Processor

. - 2 O
(3) UfterHyA W9 (Application smwwrsy &
(4) ¢S TEE (Language Processor) &1 1;

JSA-2023/B7
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wE?
128. Wﬁ@zﬂm@m#aﬁaﬁﬁmm%ﬁﬁﬁ-ﬁﬁﬂ“a@mm

(1) Slide Effects (2) Slide Frames

/f{) Slide Transitions
ide moves to next.
are the visual effects which appear in PowerPoint when one slide

(1) Slide Effects

(3) Slide Movements

o
. g) Slide Frames

N -
(3) Slide Movements \@) Slide Transitions
o

M~
vl

129. ﬁmw&@mm@mmaﬁ%w&mmmﬁmwmmm
22

(1) Ctrl+P

D Ctrl+Y
@ cCtrl+C )Qf) Alt+C
Which out of the following is the combination of keys used to copy a selected text in word processing
software ? ™~
™~
(1) Ctrl+P B ctri+y
\0
(8) Ctrl+C @ at+c
H L
*:

130. F=fofiea 3 & TCP #r wd Pl sy A 2
(1) Transmission Central Protocol
(2) Transport Control Protocol

}). Transmission Control Protocol

(4) Transportation Control Protocol

2

; ™N
Which out of the following is the correct full fonnaf TCP ?
(1) Transmission Central Protocol

(2) Transport Control Protocol

#1726

(3) -Transmission Control Protocol

(4) Transportation Control Protocol

SPACE Fop

(39)
ROUGH WORK
% Toru wore

#17265022

#17265022
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